Multiplicar Tres Polinomios (H)
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Simplifique cada expresion.

- =Tp(7p* — 6p* — p)(5p* — 6p* — 3p?)

T2 (=22 4 23 — 522) (221 + 229)

(=3F = 4)(=3F2 = 4f)(=9f° =T+ 317

(4c* —9%) (8" + 7ct)(¢* + 8c)

(512 + 6t)(—6t* + 3% 4 44%) (Tt + 9% + Tt)
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Multiplicar Tres Polinomios (H) Respuestas
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Simplifique cada expresion.

- =7p(7p® — 6p° — p)(5p* — 6p° — 3p°)
— —245p° 4 504p" — 70p°® — 168p° — 21p*

T2 (=22 4 23 — 522) (221 + 229)
= —928212 — 142" — 56210 — 702°

C(B3F = (=B — AP (-9 — T+ 3%
= —81f7 — 279 — 2857 — 40/ + 48°

(4ct = 9¢*)(8¢” 4 ¢ (¢* + 8¢)
= 32¢' + 212619 — 41567 — 50468

(582 4 6t) (—6t* + 3% + 43 (T2 + 9t* + Tt)
= —210¢" — 417t — 133¢" + 363t% + 482¢° + 168¢t*
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